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Q-1 Find the value of the polynomial 5x —4x*> +3 at

1. x=0
2. x=-1
3. x=2
Evaluating Polynomials
Evalualing a polynomial for a particular value
involves replacing the value for the vanable(s)
involved.
Example:
Find the value of 2x* - 3x + 4 when x = -2
2x°=3x+4 =2(-2V-3(-2)+4
=2(8)+E6+4
=6
Solution:

1. p(x)=5x—4x> +3
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p(0)=5(0)—40)> +3
p0)=3

1. p(x)=5x—4x>+3
p(=1)=5(=1)—4(-1)" +3
p(-1)=-5-4+3
p(=1)=-6

1. p(x)=5x—4x>+3
p(2)=52)—42)* +3
p(2)=10-16+3
p2)=-3

Q-2 Find p(0), p(1)andp(2) for each of the following polynomials:

Lpm=y -y+1

2. pt)y=241+22 -1

3. p(x) =x°

4. px)=(x =D (x+1)

Solution:

Lpym=y-y+1
p(0)=0Y-0+1=1
p(Hh=1)>-1+1=1
P =02 -2+1=4-2+1=2+1=3

L p@)=2+1+2t* -1
p(0)=2+0+2(0)* —(0)° =2
p(=2+1+42(1 -1 =2+1+2-1=4

P =2+2+422° -2’ =2+2+8-8=4

1. p(x)=x°
p(©)=(0y=0
p(h=(1) =1
p)=Q) =8

Lp)=Gx-D&+1)
pO=0-DO+)=-1x1=-1

p(H=01-1DH(A+1)=0x2=0
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pP2=Q-DQR+1)=1x3=3
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